Name
Kc¢/Kp Multiple choice

. (ebbingl4.3)
The equilibrium expression for K for the system
COug + CaO — CalOsp is

a. [CaCOs]/[COL)[Ca0]
b. [CaCOs3)/[CO2]
c. [COz]
€ 2. (Ebbing 14.4)

In which of the following does the reaction go the least to completion (s‘ ¢ the followmg K values)
a. 10E5 K&
b. 10E3
c. 10E0

O\ 3. (Ebbing 14.7)

Carbon disulfide and chlorine react according to the fo}lomng equation:

CSae) + 3Cla ¢ S2Chyg + CClygg)
When 1.00 mol of CS; and 3.00 mol of Cl; are placed in a 2.00L container and allowed to come to
equilibrivm, the mixture is found to contain 0.250mo] of CCly. What is the amount of Clz at

equilibrium?

CS%] + 3ch %J == S;c:,_@%c s

d. .25m01i“=! A
e. .50 mol §'S *0750 +0 z:rc
! 1 Ggm

c. .75 mol

dv 5. (Ebbingl4.11)
Which expression correctly descnbes the ethbnum constant for the following reaction?
4NH;(y) + 502 < 4NOg + 6H20(g) R

a. Kc =4[NHs] + 5[0:2]/6[H20] + 4[NO] €d. Kc

b. Kc = 6[H20] + 4 [NOJ/4[NIHz}+5[02] " ¢
¢. Ke=[H20][NO}NH:}O:] K m@‘lfﬂwjfp

(VY [Cad*

2 . i
7. (ebbingl4.19) [B-cil f0.08° =3 97
Consider the reaction system K@; } [ P oL)o. 009 5.5 A
Bra(g) + Cla(g) «> 2BrCl(g) @ r?;] F 21 [Q )@

At a given temperature. When the system is at equilibrium, the molar concentrations of Bry, Cl and
BrCl are 0. 0060M, 0.0095M, and 0.015M, respectively. The value of Kc for this system is

. 025 d. 53
& 3.90 e. 260

c. 27
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d s (ebbing14.21) "’ (_,MQJ

For the reaction system . W T
- () < Hg) +Ilg) Kee L ;‘]:@a@w @rélb’é’,_ifl_f@? 23) =

T i3 563 [sE-3 H31J (1.SE-3)

Ke=0.020 at 720K. If the initial concentrations of HI, Hy, and > are all 1.50E-3M at 720K, which

one of the following statements is correct?

" The system is at equilibrium. (4 The concentration of HI will increase e
e e e D .~ asthe system is approaching W‘or }S
| | Coequilibrium, e e
B The concentrations of Hl and I will  e. The concentrations of Hy and I will
¥ ¢ i v, inercase as the system is approaching Increase as the system is approaching
&5 equilibrium. équilibrium. olen o e |

c. The concentrations ofH3'and HI will
decrease as the system approaches

w A equilibrium. | o o
b (9) (cbbing14.92) For the reaction 2E5S(e) <5 2E(a) + S ) = B _ (s D*
h 2/ (cbbing14.22) For the reac T061? 00 e as Hszz?jz" (OTE(;)" e

at & certain temperature Ke qumqls 4500. What will happen when 0.015 nioi of H>S(g), 1.0 mol of

Hz and 1.5 mol of S; are addeq to a 2.0L container and the ;yst;n; is brought to the temperafpye at

which K¢ =4500. @Y K | s WS 1 > e 1
“"“3“’ Is000 4500% Pff«wﬁaﬁ‘ﬁ? <

4= More S» will be formed H: )

«2" Nothing, the system is at equilibrium. _ .
(6> More HyS will be formed: -, & The amount of Hy formed will be half

_ 7 the amount of Sy,
& More Ha will be formed than S,

. _d; 10. (ebbing14.23) A 1.00 mol sample of HI is placed in a 1-L vessel at 460C, and the reaction system is
allowed to come to equilibrium. The HI partially decomposes, forming 0.11 mol Hz and 0.11 mol L.

What is the equilibrium constant for the reaction? M/‘L ¢ f,a__g:? 2HT
Hi(g) + () < 2HI(g) \, | 1.0

a. 0.020 S+HO #OMl 522

b 7.1 | e. 65 E ow OO0 0.7%

c. 8.1 I .
: ._{o 1@)1 -
11. (ebbingl4.25) | Kz o = 30
Consider the equilibrium Na(g) + 3Hz(g) <> 2NHs (g) at a certain temperature. An equilibrium
mixture in an 8.00L vessel contains .800 mol Nz, and 1.20 mol Hy. What is the value of K9
a 1.85

. & d 758 Nz(gkf“:)’”z%yqépz [‘yé%fg_l\

b. 29.6 . e. 119 V5 | ‘ |

c. 37.4 0&@* | r\pﬁ S |
| Y

RO

\

LA y 2 .
Feowm WV EOL 0
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4Hag + CSz(g) <> CHygyy + 2HzS
The system reaches equilibrium according to the equation above. A mixture of 2.5 mol Hs, 1.50 mol CSz, 1.50 mol CIHL
and 2.00mol H38 is placed in a 5L reaction vessel. When equilibrium is achieved, the concentration of CHy has become
0.25M. B

Changes in concentration occur as this system approaches equilibrium. Which expression gives the best comparison of
the changes in those concentration shown in the ratio below?

A[H,SYA[CS] i” A C;J +CS, @) Z CHq 5 )*T_Hz&}d
o ; oM

a. +2/+1 } [ 4 N
b +2 /-1 S 4+ X 2]
4. -1 /+1 Eor 0.35

%X=0, @&mﬂ "

What is the change in the number of moles of H2S{g) present as the system moves from its original state t

equilibrium described? _. : thM 15-2x¢

a.. -1.25 . o d.  +.25 ‘ o IM e
. . ’ e +50 - & (Da)";a‘“ '3

c. -25 .

= 14, .

When equilibrium is achieved, the concentration of CHs has become 0.25M.

Wﬁat is the number of moles of CSx(g) at equilibrium )

a 25 ' d O.35M= X

b, 35 “e. L 5L
; c. 75 — ol

= nwr

& 15 X =l S

When equilibrium is achieved, the concentration of CHg has become 0.25M.

‘What is the conceniration in moles per liter of H; at equilibrinm?

d 25
m e. 3.5




